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Excel Answer Sheet for Economics 210

Chapter: 23

To Accompany Excel Workbook: GSSM_23PriceSearchersHighBarriers.xls

Refer to the Above Excel Workbook in answering the questions below. For each spreadsheet in the workbook, a spreadsheet title and a brief description of the spreadsheet precede one or more questions based on that spreadsheet. Bold letters indicate the spreadsheet name.

This chapter deals with markets in which individual firms must determine the prices that they charge. Firms in this type of market face a downward-sloping demand for their product and must, therefore, search for the best (profit-maximizing) price. Unlike the industries considered in Chapter 22, however, these industries need not realize zero profits in equilibrium. The first worksheet considers a simple monopoly. This reviews material from the preceding chapter. The next three worksheets consider the case of oligopoly (few sellers), the temptation for such firms to collude, and the difficulty in maintaining collusive agreements. The final worksheet considers the case of a “natural monopoly.”

OptimizingMonopolist. This worksheet reviews the nature of optimal behavior by a monopolist. (Optimal, that is, from the monopolist’s viewpoint.) It corresponds to Exhibit 2, in which optimization means profit maximization, and to Exhibit 3, in which optimization means loss minimization.

1.
a.
Shift the demand curve so that it lies above the monopolist’s ATC curve. For the demand curve selected, the monopolist maximizes its profits by selling ________ units per time period, at a price of $________ per unit. Thus the monopolist earns a profit of $________ per unit produced, for a total profit level of $________ per time period.


b.
Shift the demand curve so that it lies below the monopolist’s ATC curve. For the demand curve selected, the monopolist minimizes its losses by selling ________ units per time period, at a price of $________ per unit. Thus the monopolist loses $________ per unit produced, for a total loss of $________ per time period.


c.
The situation in (b) cannot persist in the long run. Explain.

SignificantScaleEconomies. This sheet, which corresponds to Exhibit 4, shows a cost curve in which economies of scale occur over a range that is large compared to the entire industry. The demand curve shows the industry size. In this type of industry only a small number of firms can persist.

2.
a.
Suppose that this market is contestable (see Chapter 22, pages 530 – 532), so that the price is held to $100 per unit. Can a single firm produce the entire industry output? Explain.


b.
Could three equal-sized firms produce the entire industry output? Explain.


c.
Could four equal-sized firms produce the entire industry output? Explain.


d.
Ten equal-sized firms cannot survive in this industry. Why not?

ColludingGroup. This sheet, which corresponds to Exhibit 5, illustrates the nature of equilibrium when oligopolistic firms collude to maximize their joint profits. As with Exhibit 4, it takes the simplest case, in which all firms have the same cost curves. The analysis changes only slightly when firms have different cost curves. Mainly, it makes the collusion harder to instigate and to maintain.

3.
These firms behave like a monopolist. They take the market demand curve as the one on which to base their decisions. They choose to produce a quantity such that MR = MC. That quantity is _______ units. The firms agree to charge a price of $_______. As a result each firm earns a profit of $________ per unit on each unit it produces. For the group, total profits = $________.

Group&Firm. This sheet corresponds to Exhibit 6. It shows the group of oligopolists and one of the members. That member has been assigned a quantity of 50 units of output, with instructions to sell at the agreed-upon oligopoly price. The member firm, however, recognizes that it can sell some output to customers of other members. The demand curve for its product passes through the point (50, $1700) and is more elastic than the market demand curve. The member firm’s marginal revenue exceeds the group marginal revenue.

4.
In the worksheet, the marginal revenue for this member firm, at Q = 50, is $________, well above its marginal cost of $________. If this firm cheats (sells more than its allocated share) it can earn a maximum profit of $________ by producing ________ units. (This assumes that the other firms do not detect this firm’s cheating, or do not react to it.) Because the firm’s output exceeds the established quantity, the industry price will fall to $________. If the other firms continue to sell their assigned quantities, their profit level will be $_________. If the cheating firm had honored its agreement to produce 50 units of output, the other firms in the industry would have earned profits of $________ (not shown directly).

NaturalMonopoly. Like Exhibit 8, this sheet shows a “natural monopoly,” a firm whose average cost diminishes throughout the entire market range. This cost curve makes competition infeasible, because each small firm’s per-unit cost would be so high relative to what the single producer would incur.

5.
a. 
If this monopolist is free to produce whatever quantity it chooses and to charge any price, it can maximize its profits by producing ________ units and selling the product at a price of $________ per unit. The profit per unit will be $_______ and total profit per period will be $_______.


b.
Suppose that regulators require that the firm meet market demand and charge a price equal to its average cost. (Remember, average cost includes a normal rate of return on investment.) Assuming that the regulated firm has the same cost structure as it would if it were unregulated, the firm will produce _______ units and sell each for $________.


c.
One problem with the solutions to both (a) and (b) is that the quantity is one at which P > MC. This means that additional units of this good are worth more to consumers (measured by their willingness to pay) than the cost of producing them. Thus, value would be created by having more produced. An ideal would be to have the quantity produced such that P = MC. This quantity would be ________ units per time period. The price would be $________ per unit. Therefore, if the firm were forced to this price, quantity combination, it would lose $_______ per time period.


d.
Suppose that the monopolist is allowed to charge a per-period fee that sums to $12,000 per time period, plus a per-unit price equal to the marginal cost. Then the firm would earn a profit of $________ per time period, and Consumer Surplus would be $_________ per time period.
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Please suggest ways to improve the exercise set, in terms of either clarity or content.

